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16.7 18 340 333 -4.3 0.2 2.0 1.9 2,021 2 148 156 2100 1,777.1 1,666.5

18.0 19.2 339 344 -3.2 10 17 19 2677 2923 150 189 1,606.4 1,532.5

16.9 182 340 327 -3.5 2.2 19 2.9 2,297 2,701 107 136 1,576.2 1,563.0

17.0 182 344 334 -3.8 1.4 1.8 1.9 2410 2 110 259 1520 1,859.2 1,890.8

171 183 359 347 -39 -0.7 18 19 1,94 2123 128 134 1,818.0 1,833.3

17.20 182 337 337 -3.1 3.3 18 2. 2107 2,233 199 172 1,717.3 1,798.8

17.3 183 354 341 -3.7 0.9 19 1.9 2032 2 102 83 129 1,663.4 1,671.3

17. 187 365 350 -3.3 0.9 2.0 14 2182 2279 207 231 1,864.3 1,824

16.8§ 179 353 350 -3.1 0.9 19 1.9 2017 1,824 179 182 1,649.1 1,657.8

17,5 18.4 36.4 357 -3.9 1.4 2.0 1.9 2,574 2 619 196 138 1,652.8 1,665 3

17.20 183 349 342 -3.6 1.1 19 1.9 2,27 2,306 1655 167.3 1,718.4 1,713.2
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